Addenda to VAB Siding Drawing 79K36086 and Specification 79K36159
The following are addenda to the drawings and specifications.  These items are found in the bill of materials on sheet 1 of 4 and in the specification.   The item number in the bill of materials and the specification part are listed for each.  

Item 5/Part 2.5.6 – Side Lap Screw-Change to read as follows:
Screw, #12-14 x 5/8” long, Type AB, hex flange head, 2024-T4 aluminum with EPDM rubber seal
Item 6/Part 2.5.3 – Self-Tapping Screw:
Change from “hex flange head” to “hex head”.
Item 8/Part 2.5.7  – Lock Nut-Change to read as follows:
Lock nuts, 3/8” hex head, ASTM F 594, Type 305, UNC Class 2A threads, with nylon insert locking feature.
Item 12/Part 2.5.5 – Self-Tapping Screw Change to read as follows:
Screw, #8 x ½”, split point, self-drilling, self-tapping, coated carbon steel, flat Phillips head, countersunk type.
Item 14/Part 2.5.4 – Self-Tapping Screw-Change  to read as follows:
Screw, ¼” x 5/8”, self-drilling, self-tapping, Type 304 stainless steel hex flange head and threads, hardened carbon steel drill point.
Item 15/Part 2.5.11 – Beveled Washer-Change  to read as follows:
Beveled Washer, 3/8” bolt diameter. ANSI B18.23.1, Type B unhardened steel, hot dipped galvanized to ASTM A 153.
Item 16/Part 2.5.10  – Plain Washer-Change to read as follows:
Plain washer, 3/8”standard size, 0.083” thickness x 1.000 OD, Type 304 or 316 stainless steel, per ANSI B18.22.1.
